3.8 Inverse Trigonometric Functions
C(x) = arcsin (x)
S = Sin 1 (x)
Let's derive y=sin"(x)
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Now, you try to find the derivative of arccos...
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In a similar manner, the other trig functions can
be found...
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Furthermore, we can generalize any type of trig function

by using the Chain Rule;
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29. I'.ur‘l"
In Exercises 1-8, find the derivative of y with respect to the appropri- 3
ate variable. I
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In Exercises 9-12, a particle moves along the x-axis so that its posi-
tion at any time f = 0 is given by x(f). Find the velocity at the indi-
cated value of 1.
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In Exercises 13-22, find the derivatives of y with respect Lo the

appropriate variable. : W :gs P
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In Exercises 23-26, find an equation for the tangent to the graph of v

at the indicated point. 1 .
y = 0.289x + 0.470 F=g% TiLN
2. y=seclx, x=2 4. y=tan"'x, x=2
s - =
25. y = sin I(Z)’ x=3 26. y=tan"'(x?), x=1

y=x— 0215
y = 0.378x — 0.286 A '



In Exercises 1-8, find lhc derivative of y with respect to the appropri-
ate variable. 2 |
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28. Let f(x)=xX"+2x+x— L.
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